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L.

You work for a consumer advocate agency and want to find the mean repair cost of a washing machine. As
part of your study, you randomly select 45 repair costs and find the mean to be $117.00. The sample
standard deviation is $18.90. Complete parts (a) and (b).

(a) Construct a 90% confidence interval for the population mean repair cost.
The 90% confidence interval is (112.37,,121.63 ). (Round to two decimal places as needed.)

(b) Change the sample size to n=90. Construct a 90% confidence interval for the population mean repair
cost.

The 90% confidence interval is (113.72,120.28 ). (Round to two decimal places as needed.)

Which confidence interval is wider? Explain. Choose the correct answer below.

% The n =90 confidence interval is wider because a larger sample is taken, giving more information
about the population.

™5 The n =45 confidence interval is wider because a smaller sample is taken, giving less information
about the population.

The two intervals are the same size because the confidence interval is based on the level of
confidence and sample standard deviation.

People were polled on how many books they read the previous year. How many subjects are needed to
estimate the number of books read the previous year within one book with 95% confidence? Initial survey
results indicate that ¢ =10.7 books.

A 95% confidence level requires D subjects.
(Round up to the nearest whole number as needed.)

In a random sample of five microwave ovens, the mean repair cost was $80.00 and the standard deviation
was $13.00. Assume the variable is normally distributed and use a t-distribution to construct a 90%
confidence interval for the population mean p. What is the margin of error of p?

The 90% confidence interval for the population mean p is d],[])
(Round to two decimal places as needed.)

The margin of error is D
(Round to two decimal places as needed.)
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4.

6.

A researcher wishes to estimate, with 99% confidence, the proportion of adults who have high-speed
Internet access. Her estimate must be accurate within 5% of the true proportion.

a) Find the minimum sample size needed, using a prior study that found that 38% of the respondents said
they have high-speed Internet access.

b) No preliminary estimate is available. Find the minimum sample size needed.

a) What is the minimum sample size needed using a prior study that found that 38% of the respondents
said they have high-speed Internet access?

n= |:| (Round up to the nearest whole number as needed.)
b) What is the minimum sample size needed assuming that no preliminary estimate is available?

n= |:| (Round up to the nearest whole number as needed.)

An election poll reported that a candidate had an approval rating of 31% with a margin of error E of 2%.
Construct a confidence interval for the proportion of adults who approve of the candidate.

The confidence interval for the proportion of adults who approve of the candidate is GD) (Round to
two decimal places as needed.)

Find the margin of error for the given values of ¢, s, and n.

¢=0.95s=3.1,n=36

e-0]

(Round to three decimal places as needed.)
Construct the confidence interval for the population mean p.
¢=098,x=16.2,5=8.0,and n =70

A 98% confidence interval for pis (DD (Round to one decimal place as needed.)

Construct the indicated confidence interval for the population mean p using (a) a t-distribution. (b) If you
had incorrectly used a normal distribution, which interval would be wider?

¢=099, x=142, $=2.0, n=9

(a) The 99% confidence interval using a t-distribution is @D)
(Round to one decimal place as needed.)

(b) If you had incorrectly used a normal distribution, which interval would be wider?

() The normal distribution has the wider interval.

() The t-distribution has the wider interval.
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9.

Construct the indicated confidence interval for the population mean p using a t-distribution.

¢=0.80,x=108,5=10,n=13
The confidence interval is d:u:])

(Round the final answer to the nearest tenth as needed. Round all intermediate values to the nearest
thousandth as needed.)

A researcher wishes to estimate, with 90% confidence, the percentage of adults who support abolishing the
penny. His estimate must be accurate within 5% of the true proportion.

a) Find the minimum sample size needed, using a prior study that found that 38% of the respondents said
they support abolishing the penny.

b) No preliminary estimate is available. Find the minimum sample size needed.

a) What is the minimum sample size needed using a prior study that found that 38% of the respondents said
they support abolishing the penny?

n= |:| (Round up to the nearest whole number as needed.)
b) What is the minimum sample size needed assuming that no prior information is available?

n= D (Round up to the nearest whole number as needed.)
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